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h Ritz Company *
Comparative Balance Sheet ﬂ
December 31 ‘
2002 2001 v 41k
Cash $ 43,000 $ 24,000 i
Accounts receivable, net 35,000 38,000
Inventory 114,000 82,000 7]
Land 120,000 190,000 EP
Building 200,000 200,000
Accumulated depreciation (50,000) (40,000) ‘
Equipment 1,030,000 600,000
Accumulated depreciation —-(118.000) —(94,000)
$1.374.000 $£1.000.000
Accounts payable " $ 115,000 $ 100,000
Bonds payable 320,000 -0-
Capital stock, $10 par 750,000 750,000
Retained earnings 189,000 150,000
$£1.374.000 $1.000.000
Additional Data:
1.  Netincome for the year amounted to $84,000.
2. Cash dividends were paid amounting to 6% of par value.
3. Land was sold for $80,000.
4. Ritz sold equipment, which cost $150,000 and had accumulated depreciation of $60,000, for
$70,000. '
Instructions (4
Prepare a statement of cash flows using the indirect method.

Assume that the following data relate to Bass, Inc. for the year 2001:

Net income (30% tax rate) $2,£00,000
Average common shares outstanding 2001 1,000,000 shares
10% cumulative convertible preferred stock:
Convertible into 80,000 shares of common $1,600,000
8% convertible bonds; convertible into 75,000
shares of common , $2,500,000

Stock options:
Exercisable at the option price of $25 per share;
average market price in 1998, $30 90,000 shares

Instructions ,
Compute (a) basic earnings per share, and (b) diluted earnings per share. ( gf‘?”;ﬁ\) \) ' &% 34 i
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~ On December 31, 2000 Long Corporation sold some of its
. a 3%, four-year promissory note having a maturity value of $400,000 (interest payable annually

product to Doane Company, accepting

on December 31). Long Corporation pays 6% for its borrowed funds. Doane Company, however,
pays 8% for its borrowed funds. The product sold is carried on the books of Long at a
manufactured cost of $255,000. Assume Long uses a perpetual inventory system.

Instructions

(a) Prepare the journal entries to record the transaction on the books of Long Corporation at
December 31, 2000. (Assume that the effective interest method is used. Use the interest
tables on the following page and round to the nearest dollar.)

(b) Make all appropriate entries for 2001 on the books of Long Corporation.
{c) Make all appropriate entries for 2002 on the books of Long Corporation.

Table 1
Euture Value of 1
Periads 2% 3% 4% 6% %
3 1.06121 1.09273 1.12486 1.19102 1.25971
4 1.08243 1.12551 1.16986 1.26248 1.36049
5 1.10408 1.15927 1.21665 1.33823 1.46933
' Table 2
Periods 2% _ 3% _4%_ 6% 8%
3 0.94232 0.91514 0.88900 0.83962 0.79383
4 0.92385 0.88849 0.85480 0.79209 0.73503
5 0.90573 0.86261 0.82193 0.74726 0.68058
. Table
Future Val { Ordi Annuity of 1
Periodic Rents 2% 3% 4% 6% 8%
3 3.06040 3.09090 3.12160 3.18360 3.24640
4 4.12161 4.18363 4.24646 4.37462 450611
5 5.20404 5.30914 5.41632 5.63709 5.86660
Table 4
PeriodicRents 2% 3% 4% 6% 8%
3 2.88388 2.82861 2.77509 2.67301 257710
4 3.80773 3.71710 3.62990 3.46511 3.31213 .
5 4.71346 4.57971 4.45182 4.21236 3.99271
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At 3-3 R

\‘XD On January 1, year 1, the Gore Company purchased an asset that
' cost $154,000. The asset had an expected useful life of seven
years and no estimated residual value. The company decided to
use sum-of-the-years’'-digits (SYD) depreciation for both
financial accounting and income tax purposes. Depreciation . ,
expense for the straight-line method and the sum-of-the-years' -
digits method is as follows:

Year Straight-line  SYD Rifference

1 $ 22,000 $ 38,500 $16,500
2 22,000 33,000 11,000
3 22,000 27,500 5,500
4 22,000 22,000 0
5 22,000 16,500 (5,500)
6 22,000 11,000 (11,000)
7 {16,500}

22.000 —naB00
s154,000  3154,000 __$0

At the beginning of year 4, the Gore:Company changed from the-
sum-of-the-years’-digits. method to .the straight~line method of
depreciation for financial reporting ‘purposes.: The company’s.

income tax rate is 30%. In:year 3 and year 4, the Gore:Company b
had $90,000 pretax income before depreciation and income taxes.

Required: , _ . ‘ )
(a) Complete the following section of thé iﬁcbmé lﬁatement 2
t Year 3 Year 4
Pretax incame before depreciation..... $90,000 $90,000
Depreciation expense...ccceevcseeces
Incare before incame taxes....cceeeee
Income taX eXpenBSe. ccceeseissssacsesns
Incame before cumlative effect of
change in depreciation method ......
Cumilative effect on prior years of
changing to a different depreciation

method (net of §_____ income taxes) ..
Net iNCOME ...cvivvecocascennoasvnonne $

(b) Fill in the proforma information below

Net incCome ...vvveeeeesconconcones $ | $ | C’%

(C) Prepare the journal entry to raecord the cumulative effect
change in year 4.
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